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Journal Entry:

Given that the Universe is the set of all
modes of transportation, write a
possible set A that has any given
constraint that you want to. Tell what
the constraint on set Ais. Then give A'.

Section 3-6
Compound Inequalities

Students will be able to:
-solve and graph inequalities containing
the word and
-solve and graph inequalities containing
the word or
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 Getting Ready!

The diagram shows the number of Average Annual Orange Tree Production
boxes of oranges that an orange (number of boxes per year)

tree can produce in 1 year. An
orange grower earns $9.50 for each
box of oranges that he sells. How
much could the grower expect to
earn in 1 year from 1 tree? Explain
your reasoning.

Compound Inequality- consists of two
distinct inequalities joined by the word and or
or.

Solutions to an and inequality:

10 9 8 7 6 5 4 3 2 -1 0 1 2 3 4 5 6 7 8 9 10

Solutions to an or inequality:

10 9 8 7 6 54 3 2 -1 0 1 2 3 4 5 6 7 8 9 10
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Write the inequality and graph:

all real numbers greater than or equal to -4
and less than 6

What is the difference in "x is between 2
and 5" and "x is between 2 and 5
inclusive"?
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Solve and graph:
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To earn a B in Algebra, you must have an
average of 86 up to 89 inclusive. You scored
an 86, 83, 91, and 85 on the first four tests.
What possible scores can you earn on the
last one to get a B in the course?
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Solve and graph:
-2y+‘F< 1 or4y+§d§< -5
-7 - -} 3
g\é L yet
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Interval notation: uses parenthesis and
brackets to indicate the start and end of the
solutions

-9 < X H(*S/O@
x <10 8<~OO/ /@ﬁ\

2 <x<

x<0orx>4
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Graph and write the inequality:

(7, 11]

Hwk:

pg. 204 - 206

#10 - 22 (4th), 24 - 36 (even)
37,43, 44, 48
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